5 (1%) (1.0e+00)

0 (0%) (1.0e+00)

2 (1%) (1.0e+00)

1(2%) (1.0e+00)

16 (7%) (3.3e-01)

Cc1

3 (9%) (3.1e-01)

2 (1%) (1.0e+00)

2 (5%) (7.3e-01)

1 (0%) (1.0e+00)

Cc2

1 2

3 4

-log10 (adjusted p-value)

19 (6%) (4.96-02)

3 (9%) (1.2e-01)

3 (2%) (8.6e-01)

1 (2%) (8.6e-01)

0 (0%) (1.0e+00)

C3

3 (1%) (1e+00)

0 (0%) (1e+00)

0 (0%) (1e+00)

0 (0%) (1e+00)

1 (0%) (1e+00)

C4

0 (0%) (1e+00)

0 (0%) (1e+00)

1 (2%) (1e+00)

1 (2%) (1e+00)

10
o

1 (2%) (1e+00)

0 (0%) (1e+00)

0 (0%) (1e+00)

0 (0%) (1e+00)

0 (0%) (1e+00)

C6

Layer2

Layer3

Layer4

Layer5

Layer6



